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����������	
���ก�	��������� (����)  
����� 5 

201.  ���	
��
��������������� 
ก. �������� ��!"��#����
�
$ 
�. %&
�
'�
 ��%&
�������"�(�� 
!. %&
�
'�
 ��%&
�������"�)� 

       �.   �$!"����� �*� ��!"��+*"�%���,���)� 
202.  �
-�ก��������ก%���*��������   �ก������#	
 

 ก.    ก#���.                    �.   !�#.��� 
!.   /�����#.                     �.   ����#�%� 

203.  1��&�*��2  %��$ก�#�#����"�,'(�	���$����3ก�#��!#�  8  /5(��#$-ก"*���
������ก6	
 
ก. ก6ก�#�7*�ก��  8 
�. ก6ก�##"���" 
!. ก6��ก���    
�. ก6ก�#�!�'(��7$( 

204.  �	
��
���ก����	����������ก������������ก��	
    
ก. 	8�7�� 
�7����-����� 
�. 	8��#�77���7�#.�������#. 
!. 	8���)����$-�7�� 9*��*�����# 
�. 	8�����
$�7���!#'(���#�
�� 

205.   1��&	
8*"-�#�����#��	��ก#�
)ก ���;� �3� #� 
ก. ����
$�                     
�.  !��/$-� 
!.  ��)��#$�        
�. �, 7��/$-� 

206.  	�ก�# 8* �3���'�
  ,  �/��.��ก#�
)ก   ���*"��*��2   ���#*��ก�-	8���#	
 
ก. �=�� �3� ���                       
�. ����#�%� �3� 
!.    ����#�%����"               
�.   !�#.����
��ก�/
.���" 

207.   ���	
��
��#��-8�.�����#�#�ก��!���#
. 
 ก.   	8�>*��8'=��#!                                �.   	8���
���"7������- 
 !.   	8�	��&����ก##���ก�$             �.   +)ก7�=�  ก  ,  �   ��  ! 
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208.  ��ก�/
.7$( �
���������
�ก#
  �
� ก*��ก�/
.���1��&	����	
 
 ก.   1��&�?'(�-     �.   1��& ��!���7. 
 !.   1��& @���%�    �.   1��&7#��/�8�� 
209.   ���!"���*����$=  ���	
9�
 
 ก.   ก6  7BC6$   �������D���ก�
%�ก,'=�D��7$(�*��ก�� 
 �.   1��&7$(�-)*	�!���
$-"ก��	���#��1��&%��$������!���-!�5�ก�� 
 !.   �!#��#�������ก&��$9��*����������1��&   ����#�#�ก�� 
 �.   E�-	��E�"� "
����7$(�*��ก��  1��&���8��
%��$#)�9�5ก7$( �ก�*��ก�� 
210.   ��#�#�ก��	����	
  �#"%����
-	8���#����-/���"�#.����#��
� 

 ก.    LiCl    �.    CCl4 

 !.    CO2    �.    KClO3 
211.   ��ก"�7-�F���#.7$(%�
1��&��
�8&
���!'� 
 ก.   �
�#.����#���#.   �.   ����
����� 
 !.   ��" ��
�.    �.   ���-�#. 
212.   ��ก�!�$9)�,�G����#��,$#$��
�ก  �
-�#$-�1��&7$(#)� ��"����"��8�������   ��	��7$("*��1��& 
          7$(-����*!��,��"�  ,#���7�=�7����-��������� 

ก. ��" ��
�.    �.   ����
����� 
!.    ���-�#.    �.    ����$-. 

213.   ��ก�H��ก�.F5กC�!"��+$(���#���$��ก/.���1��&   ���#&�"*�����8����������1��&��=�  ��
�,'=�D�� 
           7$(+)ก����	�ก�#%�
�#$-�1��&	���#��1��&  !'� 
 ก.   �
�#.����#���#.   �.   ����
����� 
 !.   ���-�#.    �.    ����$-. 
214.   1��&��)*  A  �����#��,$#$��
�ก  %���"��������!�#��	�#�
��,��������ก�&
���1��& 
          %�ก�����*����
��-*���# 

ก. �,�(��5=�    �.   !�7$( 
!.   �
��    �.   ���$(-� �����*!�7$(	���กCI�7$(#��&��*�
�   

215.   ก�&*�1��& ��7���
.   ��ก�&*�1��& �ก7���
.  !'� 
 ก.   1��&7#��/�8�� 
 �.   1��&�#,#$�/��77$� 
 !.  1��&7�=���
��
������  

�.   ����!�#���##%&	�  d  ��#.��7�� 
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 216.   ����������)��#$��$���
��3กก"*�����������ก/��%�   �"7����5(�7$(�1���-�
�"*� 
           7����%5���
��8*���=� 
 ก.   �$����"���กก"*�                                �.   �$�����������-ก"*� 
 !.   �#�%&��"�!�$-��$��กก"*�          �.   �$%���"����/�7���กก"*� 
217.   ������	
7$(	8�%�� �ก1��&��ก��
�����   ���������*�
� 
 (1)   ก�#�������� 
 (2)   ก�#���!"��#��� 
 (3)   �+���7$(�&I�E)������ 
 (4)   ก�#����-�����#�#�ก����ก�/
.	��=�� 
 (5)   pH  �����#����-�����ก�/
. ��/�����. 
 ก.    (1)   ��  (2)   �.    (1)  ,  (2)   ��  (3) 
 !.    (3)   ��  (4)   �.    (4)   ��  (5) 
218.   +���$ก�#F5กC��������*��2  ���1��&7$(,�	��*  ����)�7$(�
�	����	
�,$-�,�	�ก�##��&"*�1��&��=� 
          ��
�กO�/�$�#�ก)��#'���* 

ก. �������� 
�. %&
�������" 
!. ,�������������/8�� 
�. ก�#�ก�
��#�#�ก����)���#
. 

219.   ก�#%�
����!�#�����1��&  A  !'�  2 , 7   1��&   B  !'�  2 , 6   1��&   C  !'�  2 , 8 , 5   ��1��&   D   
          !'�  2 , 8 , 6   ���
��ก�#�
�����!*�����!��#��ก���"��$���1��&7�=�  4  ��
�
���$= 
 ก.    A >  D >  B >  C 
 �.    A >  D  > C  > B 
 !.    A >  B >  D >  C 
 �.    A  > B  > C  >  D 
220.   ก�#%�
����!�#�����1��&  A  ( 2 , 4 )  1��&  B  ( 2 , 8 , 8 , 1)  1��&  C  (  2  8  6 )   ��1��&  D   
          ( 2 , 8 , 8 , 2 )   ��#����-	��=�������ก�/
.���1��&	
7$(����#+���$(-��$ก#�
�C�������$�=������  
          ��
��$ 
� 

ก. 1��&  A  ก��1��&  B 
�. 1��&  A  ก��1��&  C 
!. 1��&  C  ก��1��&  D 
�. 1��&  B  ก��1��&  D 
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221.   ��กCI�7$(   Sn    �
���������
�������
� �-*��8�
�%�  !'� 

 ก.   !���#
.���  Sn   �8*�  SnCl2    ��   SnCl4  �$%&
�������"�(�� 

 �.   ��#�#�ก�����   Sn  �8*�  SnCl4   ���������
���*
$ 
 !.   ��ก�/
.���   Sn   ����#+7���P�ก�#�-�ก������
 
 �.   ��#�#�ก��   Sn  �*"�	�Q*��*����-�=�� 
222.   
45�
�6	78�4�	
�9ก:;<ก=�4�>?�  @A�<���@?<
ก�B�	75
�	
�� 
 ก.   ก=�4�>?���
6A�
���B
�����< 
 �.   ก=�4�>?��?Cก?�
���ก	
�
6D8  �?E�@���	���F<6�5� 
 7.   ก=�4�>?�6D
4
6D8��64�   78�46�5��	
�D< G  ��>F<���
�5
� 
 <.   ก=�4�>?�6D
4
6D8��64�   78�46�5���
HA�4�FE�  9D���D�D<
�ก��>F<���
�5
� 
223.   @�����ก
C7D
B�����  
45�
D�D���E=�9D	84�@4C?�A
���กD�< 

 ก.   SCl2    �.   AlCl3 

 7.    MgCl2    <.    SiCl4 
224.   7���C
�
����7D
B���  4�@4C?�A
�:�<B� 
 ก.   �=�BKKL�
45�
6D
4
6D8 
 �.   
����
<
6D8���
�M6NO4A6	
< 
 7.   �=��PAกA�A��ก?CQAD
8
��B�
��� 
 <.   D�D���E=�B�	 
225.   

กBQ���
<������  
45�
D�D���E=�9@�<@4C?�A
���ก��4�ก���@�� 

 ก.   Al2O3    �.   CO2 

 7.   SO2    <.   BeO 
226.   

กBQ����9@�<@4C?�A
���ก��4�ก���@�� 

 ก.   SiO2    �.   CO2 

 7.   B2O3    <.   BeO 
227.   ��ก��
����4กT�Q7D
���  
����	97D
Q��47D
B����=�
�B� 
 ก.   
���@���?E<�	� 
 �.   
����?87���BD�� 
 7.   
���@���O�78�4�5E� 
 <.   
���@������:8�D�78�4���9�<�
<�PAกA�A�� 
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228.   ����K
@K
�?@4�6D���O�  
�:�  K
@K
�?@ ��8   K
@K
�?@9�<  
����	�  �?E<��E
�5�
<��ก 
 ก.   8A��ก���?�
���<
��
4N���� 
 �.   8A��ก���?�
���<
A
D7��
�N���� 
 7.   �4
Dก�D�
<K
@K
�?@4��=��8�
��
4�:�<ก?� 
 <.   
��
4�
<K
@K
�?@4��=��8��A8��
��:�<ก?� 
229.   B@	�A�@
�=�  9D�
H��  
��� 
 ก.   �����:�<��A�ก?� 
 �.   B
�Q����
<����7���C
� 
 7.   �O�  (6�5

?U�O�)  �
<����7���C
� 
 <.   @�����ก
C�:�<��A�ก?��
<����7���C
� 
230.   @�����ก
C���4�  2  ����
���
<7����ก
C  75
  �D6�ก?C
�D6�  
45�
D�D���E=���B�	@��D�D�� 
          ���4�@4C?�A
��� 

ก.   กD�<  6�5

C@ 
�. ก��  6�5
กD�< 
7. ก��  กD�<  6�5

C@ 
<. B4:4�7=��
C���>Oก�	
< 

231.   @4C?�A�	
���@�4��>��	
���6D?กก���=�9�ก@�����	
�:
B���E  �	
��>Oก���@�� 
 ก.   H8ก�D6�
����������@�4��>�=�BKKL�B�	��ก@>��� 
 �.   H8ก
�D6�
����������B4:@�4��>�=�BKKL�B�	
D� 
 7.   H8ก

กBQ���
<�D6����@�4��>D�D�����E=��6	@��D�D��
���
C@ 
 <.   H8ก�D6�4�7:�HD?<<��B


B�
Q�?�D=��?C��� 1  ��=�  9D�7:���E��
HA�4��4
D�
��
4 
232.   @�����ก
C

กBQ���
<  X  4�@O��  XO   9@�<8:�
�:�<B� 
 ก.    X   
�������64O:��� 2 
 �.    X   
�������64O:��� 6 
 7.   X   
�O:64O:
���8ก?C

กQA
�� 
 <.   X   4�
8
D���
A
D7��
�
�:�ก?C

กQA
�� 

233.   
���?�@�����ก
CQ?DBK���
<   BeS  ,  S8  ,  P2O5   B8	
���กD�:4
���8ก?�  �����	
กMY��	
�� 
 ก.   Q?DBK���
<@��D�D��
���
C@ 
 �.   Q?DBK���
<@��D�D�����
���ก�� 
 7.   Q?DBK���
<@��D�D�����
���กD�< 
 <.   Q?DBK���
<@�����ก
C���B4:D�D���E=� 
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234.   @����A�6�F�<
;�B64	B�	

กBQ��  2  ��A�  

กBQ����A�9�ก
����
<9�Z<���B4:D�D���E=� ��A����  2    
          
���กT�Q���D�D���E=�B�	  �6	@��D�D�����4�   pH   ��=�ก8:�  7  @����E75

�B� 

ก. 97D
Q��47���C

�� 
�. 
DO4A
���4Q?DBK�� 
7. �Q
���4Q?DBK�� 
<. B[���7���C
� 

235.   ��กก����D
<�:
B���E   
 ( 1 )   
�A4@��D�D��
C
��Aก��D<��@��D�D��กDO�7@ 
 ( 2 )   
�A4ก��B[���7D
�Aก
�	4�	�  D<��@��D�D���H9�@
Q��4
�
��94<ก�
�� 

 ( 3 )   D�D���E=���D����  20  g.  ���E=�กD?��  150  cm3. 
 ( 4 )   
�A4ก��Q?DK^8�AกD<��@��D�D���Q��9
� 

 (  5)   
�A4@��D�D��   NH4SCN  D<��@��D�D��  Fe(NO3)3 

        �	
��
���ก��
�D����9�D<��  �������  

ก.   1  ,  2  9D�  3 
�.   1  ,  3  9D�  5 
7.   2  ,  3  9D�  4 
<.   3  ,  4  9D�  5 

236.   N����@�UU�ก�a�C6�F�<6�?ก  210  g.  
45�
�@:กT�Q4�
�����8���
�Z4  �?�<B�	6�?ก  214  g.    
          ��ก�?E�@OCกT�Q4�
��

ก��กN������64�  9D	8C����กT�Q  P  ��
�Z4  �?�<B�	6�?ก  221  g.   
          >	�ก����D
<�?E<@
<��E  �=��6	
�M6NO4A9D�78�4�?�4���b��  �<6�8:�กT�Q  P  75

�B� 

ก. CH4   ( 48D�4
Dก�D  =  16 ) 

�. Cl2     ( 48D�4
Dก�D  =  71 ) 

7. O2      ( 48D�4
Dก�D  =  32 ) 

<. CO2   ( 48D�4
Dก�D  =  44 ) 
237.   ��ก����8�@
C7�MN�H�
<�E=�������?8
�:�<HC8:�  4�@��
A������48D�4
Dก�D
�:�ก?C  250  

          
�5
��
�O:
�:�ก?C  4 x 10-7  �4D�:
DOกC�aก�
�QA
4��  >	���9�:D�8?���������5�4�E=��������E 
          
�	�B�   2,000  DOกC�aก�
Q��A
4���:
8?��:
7�  ��A4�M�
<@��
����������:�<ก���?C
�	�B��:
8?� 
          4�7:�
�:�ก?Cก��4ADDAก�?4 

ก. 1 x 10-1     �.   2 x 10-1  
7.  1 x 10-4     <.    2 x 10-4   
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238.   @��  A  4�48D�4
Dก�D  64  ���ก
C�	8�  S  9D�  O  
�:�<D�
�:�G ก?�  ���48D   
          >	�@��  A  32  ก�?4  4��=��8�
��N�7
�:�ก?C@��  B  22  ก�?4  @��  B  
��
���@���� 

  ก.    CO2   �.   CS2 

  7.    NO2   <.   SO2 
239.   
45�
�=�6D
�BK��A�4�B@	  ��A4���  0.112  DOกC�aก�
�QA
4��  4�C�����	8�กT�Q��A�6�F�<   
          ��A�9D���A4�M�
<กT�Q���	
��
64��@4���@�� 

  ก.   N2  ��A4�M   0.14  g. 
  �.   Xe  ��A4�M   0.66  g.  
  7.   He  ��A4�M   0.02  g. 
  <.   Ar   ��A4�M   0.01  g.   
240.   �=��8��4D�
<@�����	
���	
����@�� 

  ก.   กT�Q[�
D���4  11.2  dm3.  ���  STP 
  �.   ก=�4�>?��
4CAก   76.8  g. 

  7.   BrF3  82.2  g. 
    <.   ��
�  90.3  g. 
241.   �	
78�4���:
B���EB4:>Oก�	
< 

  ก.   �D6�
<A�  1  �4D  ��4��=��8�
��
4
�:�ก?C  6.02 x 1023 
  �.   กT�QKDO

���  1  �4D  ��4��=��8�
��
4
�:�ก?C
D�
�8ก���� 

  7.   �Q
���47D
B���   1  �4D  ��4��=��8��Q
���4B


�
�:�ก?C  6.02 x 1023 
  <.   กT�Q7���C
�B�

กBQ��  1  �4D  ��4��=��8��4
Dก�D�
<7���C
�B�

กBQ��   
                    
�:�ก?C
D�
�8ก���� 
242.   @��7O:���:
B���E4��=��8��4
Dก�D
�:�ก?�  ก�?4 

  ก.   C2H5OH  23  ก�?4  CCl4  77  ก�?4 

  �.   CH3COOH  30  ก�?4  H2O  18  ก�?4 

  7.   CaO  56  ก�?4  C2H5OH  23  ก�?4 

  <.   CCl  77  ก�?4  H2O  18  ก�?4 

243.   
45�
�=�@��   X2(CO3)3  6�?ก  19.60  ก�?4  B�
;���B�	  X  

กBQ��6�?ก  16.00  ก�?4   

          ก?CกT�Q  CO2  
�:��?E�  ��A4����
<กT�Q  CO2  ���
กA��FE����  STP  4�7:�
�:��� 
  ก.   30    �.   40 
  7.   60    <.   80 
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244.   ก=�6���6	  4�
7�5�
<�?�<HA
ai���@�4��>�?�<�E=�6�?กB�	D�

���4�ก
7�5�
<6�F�<  >	����C�E=�6�?ก 
         �
<7�ก?C�E=�6�?ก�
<
�6��  
45�
7��?E�กA�
�6��
�	�B�  �E=�6�?ก�
<7�6D?<กA�
�6�� 
         ��
���
�:�<B�  
45�

���Cก?C;D�84�
<�E=�6�?ก7�ก:
�กA�
�6��ก?C�E=�6�?ก
�6�� 
  ก.   
�:�ก?�   QF�<
���B���4กj��<48D�
<@�� 
  �.   
�:�ก?�   
�5�
<��ก�M�กA�
�6���:�<ก���?�
�����CC�^� 
  7.   �	
�ก8:�   
�5�
<��ก�M�กA�
�6���:�<ก���?�
�����CC
�^� 
  <.   �	
�ก8:�    
�5�
<��ก�M�กA�
�6��4�ก��4�ก����	HD?<<��B��	8� 
245.   �=��8��4
Dก�D�
<@����4�4�ก���@�� 
  ก.   กT�QB[���
��  6�?ก  4  ก�?4 

  �.   กT�Q  CH4  0.1  �4D 
  7.   �
<9�<6�?ก  10  ก�?4 

  <.    กT�Q7D
���   1023  
��
4 
246.   
6DZกก��ก�?4  �F<��4��=��8�
��
4
�:�ก?C7���C
�  45  ก�?4 
  ก.   3.75     �.   45 
  7.   56     <.   210 
247.   �8�
�D:��C6�F�<6�?ก  108.16  ก�?4  
45�
�=�B�C����

กQA
�����  STP  �?�<B�	  109.76  ก�?4   
        
45�
�=�B�C����กT�Q��กNO
��BK���  STP �?�<B�	  111.36  ก�?4  กT�Q��E
��
���กT�Q�� 

  ก.    SiH4    �.  SiF4 

  7.   SO2      <.   H2S 
248.   กT�Q9
4�4
���  8.5  ก�?4  ��4��=��8��4
Dก�D
�O:ก���4
Dก�D 

  ก.   1 x 3.01 x 1023   �.   2 x 3.01 x 1023 

  7.   3 x 3.01 x 1023   <.   2 x 6.02 x 1023 

249.  ����  X  
กA�@�����ก
CB[B������4�@O��  XH4  QF�<
���กT�Q���
�M6NO4A6	
<  >	�  48  dm3.   
       �
<กT�Q��E6�?ก  64  ก�?4  X  4�48D
��
4
�:��� 
  ก.   8     �.   28 
  7.   32     <.   60 
250.   
45�
�=�
�5E
�D���A�6�F�<6�?ก  100  ก�?4  4�8A
7���6�HC8:�4���
�  0.2  @:8���D	��@:8� 
        ����E=�6�?ก  
�5E
�D���E4���
�
�O:ก��ก�?4 

ก.   2 x 10-5    �.   6 x 1013 

              7.   2 x 1016    <.   6 x 1016 
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201. � 211. ก 221. � 231. � 241. � 

202. ก 212. � 222. " 232. ก 242. ก 

203. � 213. " 223. � 233. � 243. " 

204. " 214. � 224. � 234. � 244. � 

205. � 215. ก 225. � 235. � 245. ก 

206. � 216. � 226. � 236. " 246. " 

207. " 217. " 227. � 237. � 247. � 

208. � 218. ก 228. � 238. ก 248. ก 

209. � 219. � 229. � 239. " 249. � 

210. ก 220. � 230. " 240. � 250. " 

 
 
 
 
 
 
 
 
 


